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Kopnyc Beog B akcnnyaTaumio Twn poma
1k 2 k. 3 k. 4k +

1A - - 36 - 48 55 - 60 124 - 125 -
1A 1 1 8 5 35.53 m? 8.172 mnH pyb.
1A 1 1 8 6 35.53 m? 8.35 MrH py6.
1A 1 1 5 5 35.54 m? 8.352 mnH py6.
1A 1 1 8 7 35.82 m? 8.489 MnH py6.
1A 1 1 8 8 35.82 m? 8.525 mnH pyb.
1A 1 1 5 6 35.54 m? 8.53 mrH py6.
1A 1 1 8 9 35.82 m? 8.561 MnH py®.
1A 1 1 8 10 35.82 m? 8.597 mnH py6.
1A 1 1 5 7 35.95 m? 8.7 MrH py6.
1A 1 1 8 14 35.82 m? 8.704 mnH pyb.
1A 1 1 5 8 35.95 m? 8.736 MnH pyb.
1A 1 1 5 9 35.95 m? 8.772 mnH py6.
1A 1 1 8 15 35.82 m? 8.776 MnH py6.
1A 1 1 5 10 35.95 m? 8.808 mnH pyb.

1A 1 1 5 14 35.95 M2 8.916 MIH py6.
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8.988 mnH py6.

9.287 mnH py6.

9.324 mnH py6.

9.466 mnH py6.

9.503 mnH py6.

9.828 mnH py6.

9.864 mnH py6.

10.062 mnH py6.

10.084 mnH py6.

10.099 mnH py6.

10.137 mMnH py6.

10.245 mnH py6.

10.284 mnH py6.

10.292 mMnH py6.

10.314 mnH py6.

10.324 mnH py6.

10.331 mnH py6.

10.338 mnH py6.

10.339 mnH py6.

10.373 mnH py6.

10.377 mMnH py6.

10.378 mMnH py6.

10.386 mM1H py6.

10.426 mnH py6.

10.501 mnH py6.

10.509 mnH py6.

10.528 mnH py6.

10.548 mnH py6.

10.558 mnH py6.

10.561 mMnH py6.

10.568 mMnH py6.
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10.573 mnH py6.

10.575 mnH py6.

10.595 mnH py6.

10.606 mM1H py6.

10.608 mMnH py6.

10.613 mMnH py6.

10.615 mnH py6.

10.643 mnH py6.

10.655 mnH py6.

10.656 mnH py6.

10.703 mnH py6.

10.752 mnH py6.

10.769 mMnH py6.

10.776 mMnH py6.

10.784 mnH py6.

10.793 mnH py6.

10.799 mnH py6.

10.8 mnH py6.

10.816 mnH py6.

10.823 mnH py6.

10.84 mnH py®.

10.846 mnH py6.

10.848 mnH py6.

10.864 mnH py6.

10.871 mnH py6.

10.879 mnH py6.

10.911 mnH py6.

10.918 mnH py6.

10.941 mnH py6.

11.054 mnH py6.

11.061 mnH py6.
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47.21 m?

47.3 m?
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54.96 m?
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59.48 m?

55.39 m?
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54.8 m?
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11.09 mMrH py6.

11.139 mnH py6.

11.148 mnH py6.

11.155 mnH py6.

11.29 mrH py®6.

11.352 mnH py6.

11.525 mnH py6.

11.557 mnH py6.

11.566 mnH py6.

11.589 MnH py6.

11.793 MrH py6.

11.803 mMnH py6.

12.091 mnH py6.

12.366 mnH py6.

12.491 mnH py6.

12.574 mnH py6.

12.604 mnH py6.

12.629 mnH py6.

12.684 mnH py6.

12.74 mnH py6.

12.788 mnH py6.

12.878 mnH py6.

12.906 mnH py6.

13.017 mnH py6.

13.027 mnH py6.

13.087 mnH py6.

13.09 mMrH py6.

13.145 mMnH py6.

13.147 MnH py6.

13.2 MmsH py6.

13.207 mnH py6.



1A 2 1 4 10 55.23 m? 13.255 m1H py6.

1A 2 1 13 14 60.03 m? 13.387 mrH py6.
1A 2 1 4 14 55.23 m? 13.421 mnH py6.
1A 2 1 13 15 60.03 m? 13.447 mnH py6.
1A 2 1 9 20 55.11 m2 13.502 mnH py6.
1A 2 1 4 15 55.23 M2 13.531 mnH py6.
1A 2 1 13 20 59.56 m? 13.639 mnH py6.
1A 2 1 13 21 59.56 M2 13.699 m1H py6.
1A 2 1 9 21 55.11 M2 13.778 mnH py6.
1A 2 1 4 20 54.95 m? 14.012 mnH py6.
1A 2 1 4 21 54.95 m? 14.287 mnH py6.
1A 3 1 1 6 123.59 m? 24.1 MmnH py6.
1A 3 1 1 7 124.72 m? 24.445 mnH py6.
1A 3 1 1 8 124.72 m? 24.57 mnH py®6.
1A 3 1 1 9 124.72 m? 24.944 mnH py0.
1A 3 1 1 10 124.72 m? 24.944 mnH py6.
1A 3 1 1 14 124.72 m? 25.318 mnH py6.
1A 3 1 1 15 124.72 m? 25.568 mnH py6.
1A 3 1 1 20 124.22 m? 26.707 mnH py6.
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